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Topic:- CDP_P2_S1_CTET

1)
At which stage are children able to participate in games with rules, develop their athletic

abilities and logical thought process also increases though it is restricted to concrete
experiences ?

(1) Early childhood

(2) Middle childhood

(3) Adolescence
(

4) Infancy
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[Question ID = 1][Question Description = S22_CDP_Q001]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]
2)
Assertion (A) : Coming of age or menarche is celebrated in certain cultures while it is
kept a secret in other cultures

Reason (R) :  Childhood experiences unfold differently for children depending upon
their socio-cultural contexts

Choose the correct option

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[Q:J<[a;ti9n |I|; =52]][Question Description = $22_CDP_Q002]

2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3 ;
) Development is :

(1) Disorderly

(2) Totally unpredictable
(3) Unidimensional

(4) Dynamic

[Question ID = 3][Question Description = S22_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

Y The cephalo-caudal principle of development states that development proceeds from :
(1) Head to toe
(2) Toe to head
(3) Centre to extremities
)

(4) Extremities to centre
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[Question ID = 4][Question Description = S22_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)
Assertion (A) : Advertisements and films exert a major influence in determining the
attitudes and values held by adolescents.
Reason (R) : Media is a powerful secondary agency of socialization
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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1[.Q1u<[ecs);itci>or:] |I|; ==157;]|[Question Description = $22_CDP_Q005]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6)
Ramesh finds his friend’s pen very fascinating and thinks of stealing it but then he decided

not to steal because if his parents will know they will not think positive about him.
According to Kohlberg at which stage of morality is Ramesh ?

(1) Instrumental relativist orientation

(2) Punishment and obedience orientation
(3) Social contract orientation

(4) Good boy - Good girl orientation
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[Question ID = 6][Question Description = S22_CDP_Q006]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

Assertion (A) : A major criticism of Jean Piaget’s theory of cognitive development is his
belief that all children progress through the sequence of four stages in
the same manner.

Reason (R) : Socio-cultural factors play an important role cognitive development
Choose the correct option

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false
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1['Q1u<[ecs;[t)itcixor:] IB ==2751[Question Description = $22_CDP_Q007]

2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)



Children’s reasoning in stage is limited with focus on one perceptual dimension
of the problem.

(1) Formal conventional
(2) Pre-operational

3) Concrete operational
(4) Formal operational
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[Question ID = 8][Question Description = S22_CDP_Q008]
1. 1 [Option ID = 29]

2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

" Which of the following is a classroom implication arising from Lev Vygotsky’s theory ?

(1) Teachers should help the children varying the level and amount of their support.
(2) Teachers should enable conditioning of stimulus and response.

(3) Teachers should promote both positive and negative reinforcement.

(4) Teachers should formulate ways to enhance the memory strategies.
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1[Q1u<[ecs;tit9n |I|; =321[Question Description = $22_CDP_Q009]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)



Which of the following theorists has proposed the theory of moral development of
children ?

(1) B.F. Skinner
(2)
(3) Lev Vygotsky

(4) Albert Bandura

Lawrence Kohlberg
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[Question ID = 10][Question Description = S22_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

According to Vygotsky, which of the following would enable children to progress in the
zone of proximal development ?

(1) Scaffolding

(2) Conditioning
(3) Rehearsal
(4) Passive imitation
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[Question ID = 11][Question Description = S22_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)



Howard Gardner critiques the conventional thinking of intelligence as a fixed trait. Which

of the following is not one among his eight types of intelligence ?
(1) Naturalistic intelligence
(2) Creative intelligence
(3) Linguistic intelligence
(4) Musical intelligence
Elag MER Sfgrar o Feer Tieror 817 =i TR W= w1 STt i § | e 8 @ % g gfg =
3% 8 WK Wi gfgHa § e 7@ a2
(1) wepfas Sfgwe
(2) GSHTcHH fgH
(3) ol gfgwe
(4) T Ffe
[Question ID = 12][Question Description = S22_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]
") Which of the following questions would promote critical thinking in children ?
(1) Whatissumof4984and46947?
(2) When did World War 1II take place ?
(3) In which year was Mahatma Gandhi born ?
(4) How can we challenge prejudices and stereotypes ?
1 1 | i |9 = % =T e il S < 2
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[Question
1. 1 [Option
2. 2 [Option
3. 3 [Option
4. 4 [Option

14)

ID = 13][Question Description = S22_CDP_Q013]
ID = 49]
ID = 50]
ID = 51]
ID = 52]



Assertion (A) : Teachers should follow standardized curriculum and procedures for
assessment of children.

Reason (R) :  The aim of inclusive education is to work towards making everyone the
same by dismissing differences.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false

(4) Both (A) and (R) are false
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[Question ID = 14][Question Description = S22_CDP_Q014]

1. 1 [Option ID = 53]

2. 2 [Option ID = 54]

3. 3 [Option ID = 55]

4. 4 [Option ID = 56]

15)
Teachers should use gender neutral language and discuss that it is a social construct to-
(1) Promote gender stereotyping.

(2) Enchance gender discrimination.

(3) Enhance Gender conformity.

4) Promote Gender equity.
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[Question ID = 15][Question Description = S22_CDP_Q015]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]



3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)

Which one of the following philosophical perspectives needs to be followed to cater to

children with special needs ?

(1) They should be segregated and put in separate educational institutions.
(2) They should be given only vocational traming.

(3) They have a right to inclusive education and study in regular schools.
(4)

4 They do not need any education at all.
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[Question ID = 16][Question Description = S22_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]
17)
Which of the following is a reasonable accommodation for students with learning
disability ?
(1) Standardized tests for assessment
(2) Written tests of long duration
(3) Testing of ability to work under stress
(4)

4) Providing preferential seating

i@ 1 s1ema a6 & fau fefafed § 9 6 91 i a9eeE 82
(1) Hedisa o o AFagd e
(2) et srafy i fafad o
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1[Q111<[egti9n |I|; =615]7][Question Description = $22_CDP_Q017]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]



18) Inclusive schools :

(1) Understand, accept and value diversity

(2) Identify, label and segregate children

(3) Focus on uniformity and standardization

(4) Focus on cultivating an attitude of pity and sympathy
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1[Q111<[egti9n |I|; =619 ]8][Question Description = $22_CDP_Q018]
2. 2 [Option ID = 70]

3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

') An essential and typical identifying characteristic of creativity is :
(1) Convergent thinking

(2)  Originality of ideas

(3) Preference for repeating tasks

(4) Centration in thought
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1[Q1u<[e;ti<_>n |Ig =713 ‘])][Question Description = $22_CDP_Q019]

2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)

In the context of inclusive education which of the following statements is correct ?

(1) Inclusion proposes special schools for special children.

(2) Processes of inclusion and exclusion are connected.

(3) Inclusion proposes adaption of curriculum for children with disability only.

(4) Inclusion emphasizes on standardization of curriculum treating all children equally.
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[Question ID = 20][Question Description = S22_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21 A . i ! ¥
chno 1ese 15 ustrative ol a soClo-COoNnsuruciivist classroom ¢
) Which of tt illustrative of tructivist cl ?

(1) A class where the teacher dictates the answers to the questions in the textbook.
(2) A class where what is taught is determined by what is to be assessed.

(3) A class where teacher controls the behaviour of the students by offering them
appropriate rewards.

(4) A class where the children learn collaboratively.
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[Question ID = 21][Question Description = S22_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

2 Which of the following processes promotes meaningful learning ?

(1) Discussion and Discovery

(2) Conditioning
(3) Standardized assessment
(4) Repeated drill and practice
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[Question ID = 22][Question Description = S22_CDP_Q022]



1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23 ; : . :
) is a hinderance in the process of problem-solving.

Analogical thinking
Algorithms
Heuristics
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[Question ID = 23][Question Description = S22_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24 i i ; 2 =
" The process of thinking about one’s own thinking are called :

(1) Rehearsal

(2) Memorization
(3) Metacognition
(4) Equilibration

AT W R AR H E= R el 62

(1) gEiE
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(3) sAfuEEE
(4) HrEfERT

[Question ID = 24][Question Description = S22_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

) Students learn effectively when they participate in :

(1) Decontextualised activities.

(2) Mechanical activities.

(3) Purposeful activities.

(4) Activities totally controlled and directed by the teachers.
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[Question ID = 25][Question Description = S22_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]

) The process of learning for children :
(1) Takes place in socio-cultural contexts.
(2) Can be accurately predicted after an assessment of their genetic composition.
(3) Can be facilitated by giving strict punishment.
(4) Is hindered by their development.

a=di %! HiEH i Yl -
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[Question ID = 26][Question Description = S22_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27)

Assertion (A) : Processes of dialogue and discussion enable children to become effective
problem-solvers.

Reason (R) : Learning is social in character.

Choose the correct option

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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1[Q1u<E.-cs;tit9n IB =1ZOZ]][Question Description = $22_CDP_Q027]
2. 2 [Option ID - 106]

3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28)

Which view of learning focuses on intrinsic motivation and emphasises social interaction
for meaningful learning ?

(1) Behavioristic view

(2) Cognitive view
(3) Socio-cultural view
(4) Psycho-sexual view

rga &1 19 o1 g stiaftr Jon 1 Fied § @R gefe dan % fau amfss 9ed w Sk
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(3) HEISTh-HiEkiaew giteshm

(4) TR gftesm

[Question ID = 28][Question Description = S22_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29 ; G g o
) Which of the following is an example of intrinsic motivation ?

(1) Learning a new skill out of interest.

(2) Participating in a quiz to win an award.
(3) Completing homework to avoid punishment.
(4) Studying to get praise of parents.
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[Question ID = 29][Question Description = S22_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Which of the following emotions would be a facilitator in meaninful learning ?

(1) Tension

(2) High Anxiety
(3) Curiosity
(4) Humiliation
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[Question ID = 30][Question Description = S22_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_S1_CTET

1)
If0.124 +0.214 +1.24 — 241 =k + 0.128, then what should be added in k so that it becomes
1.27?

1) 1.16
@) 216
3) 2.24
(4) 244

7fg 0.124+0.214 +1.24—2.41 =k +0.128 &, @1 k H =1 wirel =€ {6 391 99 1.2 81 9 ?

1) 1.16
(2) 216
3) 2.24
4) 244



[Question ID = 31][Question Description = S22_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)
If 190512 =a%xb%xc2, where a, b and ¢ are prime numbers, then what is the value of

(12a+3b—5¢) ?
() 0

(2) =3

3 2

4 -2

A 190512 =atx b?x 2 &, Tl a, b 3 ¢ 9T H&d €, A1 (12a +3b—5¢) F HH FNE ?

1 o
2 -3
3 2
4 -2

[Question ID = 32][Question Description = S22_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)

If (4*1.1. 8*1)+ [5] =[E] , then what is the value of (;r2+x—2) ?
w2
ORI
3
y 2
(2) 5
3) ©
(4) 2

A2+ x—2)FHAAFNE ?

[Question ID = 33][Question Description = S22_Maths Content/Pedagogy_Q033]



1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

? Which of the following is true ?

(1) Ifaisa positive integer, then \/a is a rational number
(2) The square root of a prime number is not a rational number

(3) There is no perfect cube which ends in 4

P

(4) Rl =

fAd s F 9§ ?
(1) &g a Tk FRHS: QUi €, d1 /7 T IRET ge 2
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[Question ID = 34][Question Description = S22_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

9 %1029 ++/12 x 147 is equal to :

1) 3
(2) 2
1
3 3
1
4 3

39 %1029 + 12 x 147 &R T :

1 3
(2) 2
1
@G 3
1
4 3

[Question ID = 35][Question Description = S22_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]



3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6 One common factor of ¥2+2x—15, ¥2—8x+15 and x2+7x—30 is :
(1) x+3
2] &—8
(3) x+5
(4) x-5

X242y =15, x2—8x +15 AR 12+ 7x —30 F TF Td THES T :

(1) x+3
(2) x—38
(3) x+5
(4) x—5

[Question ID = 36][Question Description = S22_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)
The solution of the equation (x il 1) — (2x T 4) =i is also the solution of the equation :
3—5x 23
1) 3(Bx-7)-2(11-9x)=13
(2) 3(7x-5)-2(9x—-11)=13
3) 3Bx-7)—-2(9x—-11)=13
(4) 3(7—5x)-2(9x—11)=13

gefteor (Bt D (2¥+4) 1 o ae forey weltao o1 o el

3— 5z 23
(1) 3(x-7)—2(11-9x)=13
(2) 3(7x—5)—2(9x—11)=13
3) 3(5x—7)—2(9x—11)=13
(4) 3(7—-5v)-2(9x—11)=13

[Question ID = 37][Question Description = S22_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]



8)
9
If 2x -3y =9 and xy= —3, then what is the value of —x+l

vy oox
) -=15
2) 15
) =25
) 39

Al 2 —3y =9 IR xy=— 3%,?ﬁ = gmenam ¥ 2

¥y =%

e TR TIR, R
=
T e S e

—~[] S
15
—25
39

=

[Question ID = 38][Question Description = S22_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)
If the coefficients of 222, % and y? in the expression :

322317 +2) — x(x — 2xy”) + y(2x%y — 2y) are a, b and ¢ respectively, then what is the value
of (a—2b+c¢) ?

1 0
(2) -1
3) 1
(4) 2

Afe =ei 32312 +2) — x(x — 2012) + y(2x2y —2y) H 122, 22 3R 2 F TR FH
a, b3 cE A (@a—2b+c) MFNARE ?

(1) 0
(2) —1
@) 1
(4) 2

[Question ID = 39][Question Description = S22_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10)



What is the difference between the compound interest received when a sum of ¥ 12,000 is

I
invested at 20% p.a. for 1= years, if the interest is compounded half yearly and if the

2
interest is compounded yearly ?
(1) <128
(2) T132
(3) T 135
(4) <140

12,000 1 T SR 1 20% A @ 1 3 forw P A St @ A

(1) %128
2) T132
(3) %135
(4) T 140

[Question ID = 40][Question Description = S22_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

In which of the following cases, is the construction of a quadrilateral ABCD not
possible ?

(1) AB=55cm, BC=4 cm, ZA=60°, ZB=105° and ZC=105°
(2) AB=35 cm, BC=65 cm, ZA=100°, ZC=110° and £D=75"
(3) AB=5cm, BC=75 cm, ZA=80°, ZB=140° and £C=145°
(4) AB=6 cm, BC=5 cm, LA=55° ZB=110° and £D =90°

ot W @ o Tearfa ®, =St ABCD #1 w1 e 78 @2

(1) AB=5.5 cm, BC =4 cm, ZA=60°, ZB=105° q £C =105
(2) AB=35 cm, BC=6.5 cm, ZA=100°, ZC=110° 3R /D =75
(3) AB=5 cm, BC=7.5 cm, ZA=80°, ZB=140° X ZC=145°
(4) AB=6 cm, BC=5 cm, ZA=55°, ZB=110° 921 £D=90°

[Question ID = 41][Question Description = S22_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12)



In AABC, BC=4 cm, AC=5 ¢cm and ZB=90° In ADEF, ZD=90° FE=5 ¢cm and
ED =4 cm. Which of the following is correct ?

(1) AABC=ADEF
(2) ABAC=ADFE
) AACB=ADFE
(4) ACBA=AFED

—_
{5 1 ]

5199 ABC #, BC=4 em, AC=5 cm 3 £ZB=90° €1 ADEF #H, ZD=90°, FE=5 cm 3R
ED=4cm¥| e § § & 98 ® 2

(1) AABC=ADEF

(2) ABAC=ADFE

(3) AACB=ADFE

(4) ACBA=AFED

[Question ID = 42][Question Description = S22_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)

The sum of all interior angles of a regular polygon is 1080°. What is the measure of its each
exterior angle ?

(1) 36°
(2) 45°
(3) 30°
(4)  40°

TRl Om SRS & Gt SId:RIT 1 AN 1080° €1 39 FgYS o oS SIel 19 hi WY A &2

1) 36°
(2) 45°
3) 30°
(4)  40°

[Question ID = 43][Question Description = S22_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)



The sum of the number of faces, edges and vertices of a right prism having each of the
bases of a polygon of 8-sides is :

(1) 44
(2) 46
(3) 48
4) 50

ot wiar Ty o1 Yo STER Ush 8 9[S aTell 9gYsl € | 39k 9 Woten, foRami qen sl
Hemsll 1 4dm T

(1) 44
2) 46
(3) 48
4) 50

[Question ID = 44][Question Description = S22_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)

In quadrilateral ABCD, ZC=72° and ZD=280° The bisectors of ZA and ZB meet at a
point O. What is the measure of ZAOB ?

(1) 70°
2) 74°
(3) 76°
(4) 78°

=q4s ABCD #, £C=72° 3R £ZD=80° ¥ | ZA 3R ZB % gafgy=is foig O W frerd €1 2A0B
1A P2

(1) 70°
2) 74°
3) 76°
4) 78°

[Question ID = 45][Question Description = S22_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

16)



The area of a circle is 616 cm? and its circumference is equal to the perimeter of a rectangle

whose sides are in the ratio 5 : 6. What is the area (in cm?) of the rectangle ? (Use ™= ?)
(1) 432
(2) 440
(3) 420
(4) 480

ferdll T 1 SR 616 cm?2 ® 3R 3HeR IRy U 21mra 3 9 & SR B, Tegen el |
STUT 5:68 | 2TF 1 HTFA (cm? H) #1872

22
(‘TI' = ? 3‘4’1[‘[ Tﬁﬁm\)
(1) 432
(2) 440
3) 420
(4) 480

[Question ID = 46][Question Description = S22_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)

The curved surface area of a right circular cylinder of base radius 3 cm is 94.2 em?. The
volume of the cylinder is : (Take w=3.14)

(1) 141.30 em?

(2) 127.17 cm®

(3) 113.04 cm?

(4) 169.56 cm?

3R 5501 3 cm 9t TRl ofa Ie1g SoF 1 95k TOE S9%d 94.2 em?2 @ | el 1 3FAH ©
(TS, =3.14) :

(1)  141.30 cm?

(2) 127.17 cm®

(3) 113.04 cm?

(4) 169.56 cm?

[Question ID = 47][Question Description = S22_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)



The area of three adjacent faces of a cuboid are 120 cm?, 96 em? and 80 ecm?, What is the
volume of the cuboid ?

(1) 480 cm?
(2) 600 em?
(3) 720 em3
(4) 960 cm?

fordl =19 & 19 3T B! & %A 120 cm?, 96 cm? AT 80 cm? & | 39 SATY R ST
B

(1) 480 cm?
(2) 600 cm?®
(3) 720 cm?

(4) 960 cm?

[Question ID = 48][Question Description = S22_Maths Content/Pedagogy_Q048]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

) What is the mean of the median, mode and range of the following data ?

5, 2; 8 6,12, 10,17,15; 23,9, 17,137

(1) 16
@ 5
(3) 17
52
W 2

1 ereRel o TeTe, Sge® o iR & o1y B R 2
5,2, 86,12, 10,17, 15, 23,9, 17, 13 ?

(1) 16
W
2 =
3) 17

52
=

[Question ID = 49][Question Description = S22_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)



Numbers 16, 17, 18, ... , 55 are written on separate slips (one number on one slip), kept in
a bag and mixed well. One slip is chosen from the bag without looking into the bag. What

is the probability that the number on the chosen slip is a prime number between 19 and
537

(1)

g
w3
S

C

eIR-goe ufEaAl 9 G 16, 17, 18, ..., 55 fo@t g8 2 (U 7=l W U gE) | 3R UF Ot o
T 33t YR § foen feon siran 81 89 % ofer 9 o1 <@ ush v femrett =met ® 1 29 9= W
TF 19 21 53 & =9 H 96T G&0 84 il 31 YifFshar & ?

3
M 3
1
2 3
7
G
1
4 7

[Question ID = 50][Question Description = S22_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

21) Which of the following is least appropriate for the assessment through Rubrics ?

(1) Helps to plan the lesson well

(2) Helps to grade the students comprehensively
(3) Use to assess multiple choice questions
(4) Helps to prepare a reliable question paper



wafeh & WeAd ¥ ke i % 9l § HE-91 49 99 F9 F9 9 3YYH § 72
(1) 42 9IS 1 415 =81 e § 9 H Faral & 8

(2) Tornfei = wHTE F AR W AT T H TewE e E

(3) oI I AT U & STHE o TEd H §

(4) TovaE ™ wo-9F TR F | e Fa §

[Question ID = 51][Question Description = S22_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

22)

Using Geoboard, Dot Grid, Cut - Outs, tangrams in mathematics classroom would help
children in developing different concepts related to :

(1) Shapes

(2) Algebra

(3) Measurement
(4) Data Handling

it e H FomeEre, fafedl ara fis uw, wesmmse, Sum o1 SYER &, W Heiferd
fafy= sraumrme 1 fawfag w3 § gera #3|

(1) srpfa

(2) sisETfUE
(3) T
(4) SfHE H GHEA

[Question ID = 52][Question Description = S22_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

) ‘Ganita Sara Sangraha’ is the work of which Indian Mathematician ?

(1) Aryabhatta
(2) Mahavira
(3) Brahmagupta

(4) Srinivasa Ramanujan



“afire TR HuE! TR e s &5 e 2

(1) g
(2) HEER
(3) ST

(4) ST TS
[Question ID = 53][Question Description = S22_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

" Which of the following is the least important feature of a mathematics textbook ?

(1) Colourful illustrations related to the concept

(2) Highlighting of concepts and sub concepts

(3) Association of mathematical concepts with daily life

(4) More practice questions for mastery of standard procedures

frafafad § ¥ SF-91 U T TeTqids # 999 FH T H A ¥ € 2
(1) SFEUR § Hafeg dfed =

(2) sEEEENeT SR IYSTEHRUNE I ISTFR HIA

(3) e Sftad o |y MR SAFEROTS| F ST

(4) e forafefedl =t gamr * fou sifue gem § sv g 999

[Question ID = 54][Question Description = S22_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

) In which of the following statements, number 5 is used in ordinal sense ?

(1) There are five team members in each group

(2) This box contains many sets of five pencils

(3) Iam at fifth place in annual achievement in my class
(4) Thave only five friends

Ffafad § § foy oA o 9N 5 &l shag=as aids J @ T ¢ 7
(1) v 99 ¥ Ui gee §

(2) 39 fesa ¥ wim-diw Yfe % w8 ag=m §

(3)  STUT Theq o Sftier UROTH H A UreE I §

(4) W FAuE aE

[Question ID = 55][Question Description = S22_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]



3. 3 [Option ID = 219]

4. 4 [Option ID = 220]

26)
Which of the following statements are true for “Argumentation” in mathematics
classroom ?

(A) It can be understood as a line of reasoning that intends to show or explain
why a mathematical result is true

) A mathematical argument might be a formal or informal proof
(C) It can also be a part of the Heuristic approach in mathematics education
(D)
social science
Choose the correct option.

(1) (A) and (D)

(2)  (A), (B) and (C)
(3) (A), (B) and (D)
(4) (O and (D)

Frfafad oA § 9 SH-91 HYF e e H Cah-faas’ % fou wd #2

(A) TH TH! % UF FH FI e GHHA S T & 5 FE T € I guwen © fF ue o
qfeomy & =i §

(B) ifurdia weh-fameh wsh sfoanfis = sra=nfir syl & g @

(C) =g wiforg fven & gIffees (Taa: wie) Savm o fesn off 21 w5 §

(D) ot Frere | g5eR STERT 76 &1 Fehal § foRiifer aoh-fomen e gmfse-faam &
forg weeergui €

el fasey 1 =7 wifu .

(1) (A) iR (D)

(@) () (B) R (©Q

() (A), (B) 3R (D)

(4) (O ¥R (D)

1[.Q1uc[eg:)it?or:] |||; ==252?]][Question Description = $22_Maths Content/Pedagogy_Q056]

2. 2 [Option ID = 222]

3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

27)

It canmot be used for teaching mathematics as argumentation is important only for



A mathematics teacher asked students to take a definite shape and cut it into different
parts to make different shapes with those parts. Such an exercise is :

(1) Helpful to develop the concept that perimeter is directly proportional to the area
2

(2) Creates noise in the class
(3) Good for teacher to have some leisure time
(4)

4) Creative exercise for learning the concept that same area can have different shapes
e furg forfarent farnfefi =61 v ffvaa ergfa o9 o foro qen sgent fafy= a4 sest 399
far-for= strepfoal s o fau et 81 =8 i .

(1) 39 srayron f qftam &awe % swarad 21 €, 1 fowfaa w3 § wemm e €

(2) e H 9IR I L Gl §
(3) Toerr + o well 99 geH F3 & fau o= ®
@) 78 saunun fe gur dewe Tl fafi= siefaal @ gt € % afug % fau ws
YA S §
1[Q:1<E.~cs;ti9n |||; =252;][Question Description = $22_Maths Content/Pedagogy_Q057]

2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

28)

Martha says that the recipe for 1 kg cake requires 4 teaspoons of butter, so she needs to
put 2 teaspoons of butter for a 2 kg cake. Martha is displaying :

(1) Conservation of area

(2) Conservation of volume
(3) Estimation
(4)

4) Proportional Thinking

7yt =Tt & T ue forell o ek o9 o foe = = mees =fen, gafan e fedlt o e
91 % o 2 9979 Aegd Sifan) mof Y YR S 99 veiid 5 W@ E 2

(1) &3 1§

(2)  HET T HE
(3)  STHE T
4) HEUfaes ==

[Question ID = 58][Question Description = S22_Maths Content/Pedagogy_Q058]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]
3. 3 [Option ID = 231]
4. 4 [Option ID = 232]



29 : :
) A teacher can address conceptual errors in mathematics by :

(1) focusing on formal algorithm in the class
(2) solving many questions herself in the class
(3) wsing summative assessment strategies

(4) wusing alternate pedagogical strategies

e arefusRt T @ eraemonel § Heifua 3fedt a1 FE deifud R gadt 82
(1) e H v wemfafy | 9d o

(2) & H Sgd H WAl 1 EE T UEqd ik

(3) NIRRT giEl 1 STERT Fh

(4) SRfeus Toeommsia gfE &1 5 w

[Question ID = 59][Question Description = S22_Maths Content/Pedagogy_Q059]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

*?" In a mathematics class allowing students to attempt problems independently :

(1) Wastes too much time of classroom teaching

(2) Gives opportunity to teacher to perform other activities of the class
(3) Should be a regular practice of the class
(4) Gives students a chance to relax in the class

o e 1 Feriorl 1 T T § el e S
(1) el fRieror =1 =gd 9oy weie e §

(2) T AT 3 fataeEt Rl w1 o o e 1 oee g ®
(3) T 1 Frafd =rEer g =fen

(4) e B faenffE 1 SR % %1 Hiew <@

[Question ID = 60][Question Description = S22_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- HIN_Q91-99_L1_P2_S1_CTET

1)



o fou o TNy St eargdes ufen qer U e wyE & fon wed sugan faeew @ we
THiTeg |

oraer sitam H foram s1fuss 3:@ 3 € a8 301 & waet 2o 9@ &1 amen R e 8, #ifF 5@
foradra Frerferai & Sigm ot arman o faerm ot TR St o1 ST € | shit-aeft Hrew | =2t fomman
femar Tt &1 i F i &1 St § i sfiae 9 e R geree o9 2t #1 S o) SRE| F
Hrem o Seel 1 A @ e @ wei & g § de sl et § frsma faer s @1
Beh- o el § o ¥ - ge €1 Oy it e yfasme e eifea o 9 Eni 1w
A AT % SfeH H §E-5:@ & Hay § Iq1 & §eleh 8| Al a1 Fuie g o faed % fo
qreqy feiedt et =1 2 eafard § 1 sy @ 1 of, oz & 3 agd - F uh-g & fadied T
Mg 93 €1 UH F H9E H g A oS el 2 gE whi syl & fau 3w sl syl g
ST B | 39S BRI BN 31ET I el ST & |

Torgrer <frem # forem aﬁmg:@é‘\ﬁ%.a%mé} :
(1) PR EE &

(2) HEE@IEI

(3) HEE B B

(4) FHERE@E

[Question ID = 61][Question Description = S22_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2)



e fau 7T ey Wi eamudes afeu e U T v o T werd sugen faeney T =
THiTeg |

oraer sitam H foram s1fuss 3:@ 3 € a8 301 & waet 2o 9@ &1 amen R e 8, #ifF 5@
foradra Frerferdi & S[gm okt arman o faerm ot R St o1 ST € | shit-ameft Hrew | =2t fomman
femar Tt &1 i F i &1 St § i sfiae 9 e R geree o9 2t #1 S o) SRE| F
Hrem o Seel 1 A @ e @ wei & g § de sl et § frsma faer s @1
Beh- o el § o ¥ - ge €1 Oy it e yfasme e eifea o 9 Eni 1w
A AT % SfeH H §E-3:@ & Hay § Iq & §erh ¢ | Al a1 FEie g o fawd * fo
qreqy feiedt et =1 2 eafard § 1 sy @ 1 of, oz & 3 agd - F uh-g & fadied T
Mg 93 €1 UH F H9E H g A oS el 2 gE whi syl & fau 3w sl syl g
ST B | 39S BRI BN 31ET I el ST & |

oy ki famga & aifvgm & -
(1) HEH 31 GEEAT

(2) HIEH I G

(3) HIFH W Yihfdes fagdadl
(4) HIEH & gEEEH

[Question ID = 62][Question Description = S22_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)



e fou o TNy S eaydes ufen qeT U T wyE & o wed sugad faseu T e
THITST |

oraer sitam H foram s1fuss 3:@ 3 € a8 301 & waet 2o 9@ &1 amen R e 8, #ifF 5@
foradra Frerferdi & S[gm okt arman o faerm ot R St o1 ST € | shit-ameft Hrew | =2t fomman
feard ¥t &1 il F i & ot ® of sfiae o w1 gerae o9 2t 1 S 91 SRa| F
Hrem  sree! 1 A qe el et et el % diam 1§ 38 ol et 4 st foe s @1
Beh- o el § o ¥ - ge €1 Oy it e yfasme e eifea o 9 Eni 1w
A AT % SfeH H §E-3:@ & Hay § Iq & §erh ¢ | Al a1 FEie g o fawd * fo
g feielt arel o1 g aaferd @ 1 Wiy & = 9, ueers @ 9 agd - o UHh-gE & falied e
Mg 93 €1 UH F H9E H g A oS el 2 gE whi syl & fau 3w sl syl g
ST B | 39S BRI BN 31ET I el ST & |

5@ faoda feafed | &7l 1 forshTe Wt €
(e = =i gfd Fifom)

(1) 7 =

2) a9 =t

(3) B I

(4) AR

[Question ID = 63][Question Description = $22_Hindi Content/Pedagogy_ Q093]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4)



e fou o TNy S eaydes ufen qeT U T wyE & o wed sugad faseu T e
THITT |

oraer sitam H foram s1fuss 3:@ 3 € a8 301 & waet 2o 9@ &1 amen R e 8, #ifF 5@
Torgdia feafeal & <M o1 e o1 fosrr =52 9T ST o1 SFId 8 | -l Hrem o a7l fawea
feard ¥t &1 il F i & ot ® of sfiae o w1 gerae o9 2t 1 S 91 SRa| F
A H STee 1 I a5 Tel Wl FwH gel & 9am d de it et @ faeie fae s 7
Toh-Tesh HUel A o § TH-TR Td €1 drm i ¥ giager s sifea § =T S T
A AT % SfeH H §E-3:@ & Hay § Iq & §erh ¢ | Al a1 FEie g o fawd * fo
e Teriedt st w1 g siferd €1 oftsn & o o, vage € W awa - o uh-gel % ferie T8
Al TF €1 Uk o HWE H gL A wel 7 |@ 1 A94fd & fau gw w emyfa g
ST T 3HH B B HE H FA ST |

Uren g1 21 a9, Jaes 8 I 96d - o Th-gEl &

(1) ferdeft €
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you
can wartch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your fee]jngs_

A mad mind may be discovered :
(1

) only in abnormal people
(2) evenin intelligent people

).

)

=]

(
(4

only in people who are medjtating
in people who are aware of themselves
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you can
watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your fee]jngs_

If you write down whatsoever is going on at any moment, you are in for a great surprise.
Identify the clause in the underlined part of the sentence given above :

(1)  Adverb clause of condition
(2)  Adjective clause

(3) Noun clause

(4) Adverb clause of time
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you can
watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your fee]jngs_

After reading the passage, it can be inferred that ultimate awareness :
(1) can be achieved by practice

(2)
(3) can be taught only by a Guru
(4) can be achieved only through truthfulness
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you can
watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that’'s what meditation is.
Remember one th:ing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your feelings.

Arrange the fo]lowing steps in right order :
A) awareness of moods
B) awareness of thoughts

=)

C) awareness of peace between mind and body
) awareness of the body

(
(
(
(
(
(
(

1) (A), B) (©), (D)
2) (D) (B) (C). (A)
3) (D) (O (B), (A)

4)  (A) ©), D) (B)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you
can waltch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your fee]jngs_

According to the passage, which of the following things must you do if your body is very
tense ?

A) Run amile
B) Getinvolved in a vigorous exercise

(

(

(C) Just watch your body as a first step
(D) Just watch your mind

1 (&)

(2)  (A) and (B)

3 ©

(4) (C) and (D)
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you
can watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are noft riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your feelings.

Read the following statements :

(A) A mad mind can be cured

(B) Itis impossible to lead a meaningful life without being meditative
(1) (A) is true and (B) is false

(2) (B)is true and (A) is false

(3) Both (A) and (B) are false

(4) Both (A) and (B) are true

x]

Ly
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you
can watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your feelings.

The phrase ‘move in sleep’ in para 1 means :
(1) walk while asleep

(2)
(3) Dbeing alert
(4)

being unaware

listening to your mind
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Read the passage given below and answer the question that follow by choosing the
most appropriate option from the choices given below.

Watching is meditation. What you watch is irrelevant. You can watch the trees, you
can watch the river, you can watch the clouds, you can watch children playing around.
Watching is meditation. What you watch is not the point; the object is not the point. The
quality of observation, the quality of being aware and alert-that's what meditation is.
Remember one thing; meditation means awareness. Whatsoever you do with awareness
is meditation. Action is not of importance, but the quality that you bring to your action.
Walking can be a meditation if you walk alert. Sitting can be a meditation if you sit alert.
Listening to the birds can be a meditation if you listen with awareness. Just listening to the
inner voice of your mind can be meditation if you remain alert and watchful. The whole
point is, one should not move in sleep. Then whatsoever you do is meditation.

The first step in awareness is to be very watchful of your body. Slowly, one becomes
alert about each gesture, each movement. And as you become aware, a miracle starts
happening; many things that you used to do before simply disappear; your body becomes
more relaxed, your body becomes more attuned. A deep peace starts prevailing even in
your body. a subtle music pulsates in your body. The same has to be done with thoughts.
They are more subtle than the body and of course, more dangerous too. And when you
become aware of your thoughts, you will be surprised what goes on inside you. If you
write down whatsoever is going on at any moment, you are in for a great surprise. You
will not believe that this is what is going on inside you. And after ten minutes read it, you
will see a mad mind inside! Because we are not aware, this whole madness goes on running
like an undercurrent. It affects whatsoever you are doing, it affects everything. And the
sum total of it is going to be your life! So this madness has to be changed. And the miracle
of awareness is that you need not do anything except just become aware. The very
phenomenon of watching it changes it. Slowly the madman disappears, slowly the thoughts
start falling into a certain pattern; their chaos is no more, they become more of a cosmos.
And then again, a deeper peace prevails. And when your body and your mind are at
peace you will see that they are attuned to each other too. Now they are not running in
different directions, they are not riding different horses. For the first time, there is accord,
and that accord helps immensely to work on the third step-that is becoming aware of
your feelings, emotions, moods. That is the subtlest layer and the most difficult, but if you
can be aware of the thoughts, then it is just one step more. A little more intense awareness
is needed and you start reflecting your moods, your emotions, your fee]jngs.

Which of the following words is opposite in meaning to “subtle” as used in ‘a subtle music
pulsates in your body’ (Para 2) ?

(1) nice
(2) precise
(3) fine

(4) crude
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Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “ the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women’s economic position or in the prevailing evaluation of women's work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

Before the Industrial Revolution, the majority of women’s work was done in which of
the following settings ?

(1)
(2)
(3)
(4)

Textile mills
Private households
Offices

Factories
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Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society info
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “ the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

The author mentions all the following inventions as examples of dramatic technological
innovations EXCEPT the

(1)
(2)
(3)
(4)

sewing machine
vaccum cleaner
typewriter
telephone
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Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

According to the passage, before the 20™ century many employers :

(1)
(2)

(3)

(4)

did not employ women in factories
tended to employ single rather than married women

employed women in only those jobs that were related to women’s traditional
household work

hired women only when qualified men were not available to fill the open positions
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Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

The employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment.

Identify the clause in the underlined part of the sentence :

(1)
(2)
(3)
(4)

Principal clause
Noun clause
Adverb clause
Adjective clause
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Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “ the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

Which of the following words is similar in meaning to ‘innovation” as used in the passage ?

(Para 2)

(1) termination

(2) mechanization
(3) tradition

(4) stagnation

[Question ID = 133][Question Description = S22_English Content/Pedagogy_Q133]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

6)



Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women'’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

Which of the following words is opposite in meaning to ‘liberated’ as used in the passage ?

(Para 1)
(1) released
(2) rescued
(3) confined
(4) saved

[Question ID = 134][Question Description = S22_English Content/Pedagogy_Q134]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

7)



Read the following passage and answer the question that follow by choosing the most
appropriate option from the ones given.

(1)

It is frequently assumed that the mechanization of work has a revolutionary effect
on the lives of the people who operate the new machines and on the society into
which the machines have been introduced. For example, it has been suggested that
the employment of women in industry took them out of the household, their
traditional sphere, and fundamentally altered their position in society. In the
nineteenth century, when women began to enter factories, Jules Simon, a French
politician, warned that by doing so, women would give up their femininity. Friedrich
Engels, however, predicted that women would be liberated from the “social, legal,
and economic subordination” of the family by technological developments that made
possible the recruitment of “ the whole female folk .... into public industry.” Observers
thus differed concerning the social desirability of mechanization’s effects, but they
agreed that it would transform women’s lives.

Historians, particularly those investigating the history of women, now seriously
question this assumption of transforming power. They conclude that such dramatic
technological innovations as the spinning, jenny, the sewing machine, the typewriter,
and the vaccum cleaner have not resulted in equally dramatic social changes in
women's economic position or in the prevailing evaluation of women’s work. The
employment of young women in textile mills during the Industrial Revolution was
largely an extension of an older pattern of employment of young, single women as
domestics. It was not the change in office technology, but rather the separation of
secretarial work. The increase in the number of married women employed outside
the home in the twentieth century had less to do with the mechanization of housework
and an increase in leisure time for these women than it did with their own economic
necessity and with high marriage rate that shrank the available pool of single women
workers, previously, in many cases, the only women employers would hire.

Read the following sentences :

(A)

= =
—

{52]

— — — — —
e

Before the 20th century, many employers resented technological innovations that
would radically change women’s role in the family.

Before Industrial Revolution, women were employed only as domestics.

(A) 1s true and (B) is false

(A) is false and (B) is true

Both (A) and (B)
Both (A) and (B)

are frue
are false

[Question ID = 135][Question Description = S22_English Content/Pedagogy_Q135]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

Topic:- ENG_Q136-150_L2_P2_S1_CTET

1)



Given below are two statements marked as Assertion (A) and Reason (R).

statements and choose the correct option.

Assertion (A) : Language is a powerful tool to influence others.

Reason (R) :  Language can be used as a weapon to win public support.
(1) Both (A) and (R) are true and (R) is not explanation of (A)

(2) Both (A) and (R) are true and (R) is explanation of (A)

(3)  (A) is true but (R) is false

(4)  (R) is true but (A) is false

[Question ID = 136][Question Description = S22_English Content/Pedagogy_Q136]

. 1 [Option ID = 541]
. 2 [Option ID = 542]

1
2
3. 3 [Option ID = 543]
4

. 4 [Option ID = 544]

2)

Read the

A situation in which two dialects of a language are used by single language community is

referred to as :
(1) Accent
(2) Register
(3) Diglossia
(4) Idiolect

[Question ID = 137][Question Description = S22_English Content/Pedagogy_Q137]

. 1 [Option ID = 545]
. 2 [Option ID = 546]

1
2
3. 3 [Option ID = 547]
4

. 4 [Option ID = 548]

3)

Children engaging in cooperative dialogues with more mature peers or adults, they take
language of these dialogues, make it part of their own speech and use it to organize their

independent efforts in the same way is referred to as :
(1) Make-Belief Play

(2) Language Acquisition Device

(3) Centration

(4)

Zone of Proximal Development

[Question ID = 138][Question Description = S22_English Content/Pedagogy_Q138]

1
2
3.
4

4)

. 1 [Option ID = 549]
. 2 [Option ID = 550]
3 [Option ID = 551]
. 4 [Option ID = 552]

The minimal pair drill can be a effective strategy to improve :

(1) grammar

(2)
(3) pronunciation
4)

(

vocabulary

reading comprehension

[Question ID = 139][Question Description = S22_English Content/Pedagogy_Q139]

1

. 1 [Option ID = 553]



2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

5)

During a writing task a teacher makes the students sit in pairs and ask them to offer
formative feedback to their peers on their writing which further helps them to improve
their drafts. This strategy may be referred to as helps them to improve their drafts. This
strategy may be referred to as
(1) Reciprocal teaching
(2) Peer review
(3) Mind mapping
(4) Brainstorming

[Question ID = 140][Question Description = S22_English Content/Pedagogy_Q140]

1. 1 [Option ID = 557]

2. 2 [Option ID = 558]

3. 3 [Option ID = 559]

4. 4 [Option ID = 560]

6)

According to Piaget, during the early stages of language acquisition the children start
using signifiers-such as sounds and gestures to refer to concrete objects. This is referred to
as :

(1) Spatial awareness
(2) Symbolic thought
(3) Mental map

(4) Object permanence

[Question ID = 141][Question Description = S22_English Content/Pedagogy_Q141]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

7)
Read the following statements about ‘Dialect’ and “‘Accent’ and choose the correct option.
(A) Dialect relates to the actual language used and accent refers to the way that language
1s spoken.
(B) Dialect refers to colloquial words and phrases that often reflect identity and Accent

refers to the technical vocabulary to help people articulate experiences, events and
concepts in specialized contexts.

(1) (A) is correct and (B) is incorrect
(2) (B) is correct and (A) is incorrect
(3) Dboth (A) and (B) are incorrect
(4) both (A) and (B) are correct

[Question ID = 142][Question Description = S22_English Content/Pedagogy_Q142]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



8) Which of the following statements is true for language skills ?

(I) Speaking and writing are productive language skills
(2) Reading and listening are productive language skills
(3) Speaking is receptive but listening is productive language skills
(4) Reading is productive but writing is receptive language skills
[Question ID = 143][Question Description = S22_English Content/Pedagogy_Q143]
. 1 [Option ID = 569]
. 2 [Option ID = 570]

1
2

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

? The type of vocabulary that learner knows but does not use often is :
(1)  Active Vocabulary

(2) Basic Vocabulary

(3) Passive Vocabulary

(4)

[Question ID = 144][Question Description = S22_English Content/Pedagogy_Q144]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

Speaking Vocabulary

10)
Which of the following is NOT true for multilingualism as a strategy ?
(1) Linguistic variation of the class is respected
2)
(3) Many languages are taught in schools
(4)

[Question ID = 145][Question Description = S22_English Content/Pedagogy_Q145]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

Teacher makes use of different languages of the learners

Different languages of learners are considered as a resource for language teaching

11)

A teacher believes that ‘language is a social construct’. Her idea relates to which of the
following theorists.

(1) Jean Piaget

(2) Lev Vygotsky
(3) Jerome Bruner
(4) Noam Chomsky

[Question ID = 146][Question Description = S22_English Content/Pedagogy_Q146]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

12)



Communicative language teaching can be understood as a method in which a teacher :
(1) makes use of real life situations which require communication.

(2) gives various opportunities to learners to construct their language.

(3) practices various grammar rules with learners to help them in languages learning.

(4) gives text in mother tongue and asks them to translate in target language.

[Question ID = 147][Question Description = S22_English Content/Pedagogy_Q147]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

13) Extensive reading is the type of reading in which the reader reads for :

(1) answering the questions based on the reading text
(2) getting the gist of the text

(3) getting specific information

(4) pleasure

[Question ID = 148][Question Description = S22_English Content/Pedagogy_Q148]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]
14)
Which of the following is NOT TRUE for formative assessment in language learning ?
(1) Itis done to make judgements about the students learning and performance.
(2) Itis diagnostic.
(3) It helps in providing remediation to the learners with respect to their language
learning,.

ox]

(4) It can be done through various activities and at various intervals.

[Question ID = 149][Question Description = S22_English Content/Pedagogy_Q149]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

™ Which of the following cannot be a strategy for Pre-writing during Process writing ?
(1) Mind mapping
(2) Brainstorming
(3) Free writing
(4) Peer review

[Question ID = 150][Question Description = S22_English Content/Pedagogy_Q150]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- Science_P2_S1_CTET

1)



Which of the following can be used to observe the complete length of a distant tall tower clearly ?
(1) Convex mirror

(2) Concave mirror
(3) Plane mirror
(4) Convex lens

uF g sl (FH) HHAR F wu] TR @ STgesd # & foy fefates § 3 g v e
Tl §?

(1) e g4m

(2) @rEdd T
(3) A g
(@) 944

[Question ID = 181][Question Description = S22_Science_Q061]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2) A teacher takes 3 clean plastic caps of bottles - A, B & C
- She puts two teaspoonfuls of distilled water and few drops of hydrochloric acid in A.
- She puts two teaspoonfuls of distilled water and some caustic soda in B.
- She puts two teaspoonfuls of distilled water and some sugar in C.
Which of the above solutions will conduct electricity ?

(1) Only C
2) A&B
(3) Only A
4 AandC

e frfarmt siraet o 3 W% whfe® % g oidl § A, B 3T C

-gE A H 2 91 Ty eydfad S i S F 68 eEeEee ST i Sl §
-9 B H 3 91 9 Arafad 5e 1 SiiT dren O Hifes Giel Sedl ©

-98 C ¥ <1 Didl T snafad 5 it & did | =4 (wha) e @

YR Siet | 9 e o1 e = wom?

(1) ad C

(2) A 3RB

(3) I A

4) ARC
[Question ID = 182][Question Description = $22_Science_Q062]
1. 1 [Option ID = 725]

2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]



3 Refer to the table given below and choose the correct option.

Vitamin Deficiency Disease
X Rickets
¥ Scurvy
Bl Z
B3 W
(1) X-Vitamin D ;Y - Vitamin A ; Z - Goitre ; W - Pellagra
(2) X-Vitamin K ;Y - Vitamin A ; Z - Pellagra ; W - Beri Beri
(3) X-Vitamin D ;Y - Vitamin C ; Z - Beri Beri ; W - Pellagra
(4) X-Vitamin A ;Y - Vitamin C ; Z - Nightblindness ; W - Beri Beri

== & 5 9RO 1 2@ AR gel fawen = 99 wifen

Tererfu | srquidy ey I

X ieEl

Y Hdl

B1 Z

B3 W
(1) X-foarfm D; Y -faeifm A Z- S W - Semn/=vus
(2) X-fourfim K. Y-faerifds A : Z - Semn/=dme : W - siied
3) X-foafmD:y-fefmm €.z - <=l : W - Jemn/<due
(4) X-forfm Ay -faerfm C:z - it : W - sfed

[Question ID = 183][Question Description = S22_Science_Q063]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4 Read the statements below and choose the correct option :

S; ¢ We will not experience any gravitational force on the surface of moon.
S, : There is no oxygen on the surface of moon.

(1) BothS, and S, are true and S, is the correct reason for S,

(2) BothS, and S, are true but S, is not the correct reason for S,

(3) 5 is incorrect and S, is correct

(4) Both 5, and S, are incorrect



Trefafas w1 9few ag1 W&t fowes &1 =39 Fifa
S, : I %l HAg T EH TEARYY el STI9E Tl il |

S, : % Hag W AR 78 ¢ |

(1) S, 3RS, <M W&l & qen s, & faw s, wEt Fwm 7

(2) S, #iRs, <F WAl € W S, * fau S, wEt wRw T 7 |
(3) S, W&l T WS, W B

(4) S, ¥l s, 3H wel 7

[Question ID = 184][Question Description = $S22_Science_Q064]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]
5)
Which of the following statements most accurately describes the property of clayey soil ?
(1) It allows water to pass through it rapidly
(2) It contains very little amount of humus
(3) It permits only a certain amount of water to enter

(4) It holds a large amount of water

frefafed woml § @ $9 91 %97 g (9fear) 9e1 % U %1 Gaifas 92 ¥ 9 guiF Hal &2
(1) 395 9 5t viwan 9 Frepe st @

(2) THH Fgd w9 A H we-fagt e g/ (9 S )

(3) & haw FAfvwd A= § et & yay w9 <l ©

) I8 =Sl T H S Ak Tl @

[Question ID = 185][Question Description = $S22_Science_Q065]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

(4

® Why do aquatic plants not have a well developed root system ?
(A) So that they can be pulled out easily.
(B) They don't need long roots to absorb water.
(C) They do not need to absorb minerals,
(D) It keeps them afloat in water.

(1) (A) & (B)
(2) Only (B)
(3) (B) & (D)
(4) Only ()



i STefr Iedl o ITE =81 7l | fosmiEd qerms 71l 2l § 2
(A) i 3% Tera § faemrer s 9k

(B) =% 5@ G & feu efl 1S w1 svravaehal TE gl
(C) ==& afFsi 1 9ra i sraggshar @l adt

(D) &3 % Ta H HErl I @

(1) (A) & (B)

(2) I (B)
(3) (B) & (D)
(4) = (O)
[Question ID = 186][Question Description = $22_Science_Q066]

1. 1 [Option ID = 741]
2. 2 [Option ID = 742]
3. 3 [Option ID = 743]
4. 4 [Option ID = 744]
7)
Which of the following represents a velocity-time graph of a body moving with zero acceleration ?
(1) A curved line with steadily increasing slope
(2) A straight line parallel to the time-axis
(3) A straight line at a constant finite slope with time-axis

(4) A straight line parallel to the velocity-axis

Frefafaa § 9 9 @ 3= = @ 7fd 9 g i F an-997 a1 e F d 2
(1) TeRr 7N & F&d sam % W T afhd @

(2) HEA-3& % WH (HEAT) T =Y

(3) HHA-3T ok WY ST YR TAR X S U HiE T

(4) S % FHMAGL Tk Hiel @

[Question ID = 187][Question Description = S22_Science_Q067]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)
Raman and Shiksha are standing in front of a plane mirror at a distance of 8 m and 11 m respectively

from the mirror. Now, Raman moves from his position such that the distance between him and his

image is 10 m where as Shiksha walks 6 m towards the mirror. What is the distance of Raman and
Shiksha from the mirror in their new positions ?

(1) Both Raman & Shiksha are at 6 m from the mirror
2)
(3) Raman is at 5 m and Shiksha is at 6 m from the mirror
(4) Both Raman & Shiksha are 5 m from the mirror

Raman is at 10 m and Shiksha is at 6 m from the mirror



T iR foren Toaet <90 & W WS § E: 8 W iR 11 W gl W 376, TF AU S ¥ 39 e
Ferdt & o 3ush o) suk fafes & o9 1 @ 10 Hi. € sefs foen 6 . et & o &t 3 w9 &
foren =t 2w @ st 2 feafa =1 g 0 22

(1) T 2R e S0 g0 § 6 i &1 gl WE
(2) U H T 10 . 2R fen 6 ot F g W E
(3) TIMF A5 H. iR foan e d. FIgHWE
(4 THRFErSRi M a5 A F g wRE

[Question ID = 188][Question Description = S22_Science_Q068]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]
9)
A fisherman goes to a water body nearby to spear a fish. Which of the following should he
consider ?
(1) He should hit above the apparent position of the fish
(2) He should hit below the apparent position of fish
(3) He should hit exactly at the apparent position of fish
(4)

He should hit at right angles to his position

Teh AP HHY & T SIeerd T HSe] ded ol ¢ | Frefafed § 4 39 feg W faun w5 =iy
(1) =9 "=elt i snurd feafd & s et O =nfeg
(2) =9 "l wi e Rufa @ = et A =fge
(3) U el i gk s feafa W SRt wret =ifey
) 34 vl feyfa I ager W st 9T =ifey

[Question ID = 189][Question Description = S22_Science_Q069]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

19 Which of the following relation is true regarding magnitude of friction ?
(1) Sliding friction > Rolling friction > Static friction
(2) Static friction > Sliding friction > Rolling friction
(3) Static friction > Sliding friction = Rolling friction
(4) Rolling friction > Sliding friction > Static friction



frafafed & & 0 w0 Fey s 3 gfiam & o F w6 §2
(1) =i e > wied gy s wifaw g
(2) ¥ wur s gl w¥ > wied
(3) e wdu > ot e = Eied =
(4) e = s Tl g > g s

[Question ID = 190][Question Description = $S22_Science_Q070]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]

") Choose the incorrect set/s from the following.

Plant | Venation Root
(A) |Hibiscus |Reticulate |Fibrous root
(B) |Rose Reticulate |Tap root

(C) |Bamboo |Parallel |Fibrous root
(D) |Paddy |Reticulate |Fibrous root

Option :

() (B) & (C)
(2 (A)& (O
(3) (A) & (D)
(4) (B) & (D)

Frfafas 4 9 T8 99=a (A1) =1 997 Hife S Jel 781 /% |

arer Torfa=ma g (9 )
(A) [T BlSEE] EEEEE
(B) [TeT TR THA 58
C) |=tg THMTR TSl S
(D) |um= SSE RIS EEEISE]
faeeg :
(1) (B) 3R (C)
(2) (A) ¥R ()
(3) (A) &R (D)
(4) (B) ¥ (D)

[Question ID = 191][Question Description = $S22_Science_Q071]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]



3. 3 [Option ID = 763]
4. 4 [Option ID = 764]
12)

3 Solutions A, B and C are taken in a test tube. On adding China rose indicator, A turned green, B
remained colourlers whereas C turned dark pink in colour.

What is the nature of A, Band C?
(1) A - Acidic, B - Basic, C - Salt
(2) A - Basic, B - Acidic, C - Salt

(3) A -Salt, B - Basic, C - Acidic

(4) A - Adcdic, B - Salt, C - Basic

qrEAe! | i1 = o U A, B 3R C | =R I g9F eH W, A 80 R, B {TEH W S@fd C e
e 1 H Fee T A, B 3R C # g w0 E?

(1) A - 3714, B - 9RehiA, C - oa
(2) A -&RehI4, B - 3™, C- da9
(3) A-aE, B- &, C - AT
(4) A -4, B- @Y, C - AHA

[Question ID = 192][Question Description = S22_Science_Q072]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]

13) Study the two types of changes given below :

A B
Flowering of bud Expansion of iron on heating
Cutting of grass Boiling of water

Which of the following is true ?

(1) A - Physical changes; B - Chemical changes
(2)

(3) A - Irreversible changes; B - Reversible changes
(4) A - TIrreversible changes, B - Irreversible changes

A - Chemical changes; B - Physical changes



=1 fow 7w € WK o 9ftEdHl o A Wi

A B
SHfcTeRt 1 IoIW | TRH LA | Al FH Hedl
T AT T 1 FFYA (IS
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(1) A - ¥ifas uftads; B - vt afiads

(2) A - Tt 9fted|; B - wifas afiteds

(3) A - AJeRHYIE IREd; B - gfdadl gftedH

(4) A - SR YfEEH; B - STakquid giteds

[Question ID = 193][Question Description = $22_Science_Q073]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]

14 What is common in Amoeba, Starfish, Ant and Spider ?
(1) They all lack back bone

(2) They have scales on their body

(3) They lay eggs to reproduce

(4)

.

They live in water

SAeTe, WRIE (AriE), =it oK mewet | 7 geean § 2
(1) & =it fie =i g e €
(2) =9 TEH VAR W THE (Weh) B §
(3) & worH % fo ofE &9 €
(4) 9 H wd e
1[Q1u<[e;titgn |Ig =717 ‘;]4][Question Description = $22_Science_Q074]
2. 2 [Option ID = 774]

3. 3 [Option ID = 775]
4. 4 [Option ID = 776]

15)

Given below are the steps to conduct an experiment to test the presence of starch in a leaf. Which
of the following steps is not necessary ?

(1) Boil the leaf first in water and then in alcohol

(2) Wash the bleached leaf

(3) Heat the leaf on a flame

(4) Add a few drops of iodine solution to the bleached leaf

e
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[Question ID = 195][Question Description = S22_Science_Q075]

1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

16} How do cyclones decrease the fertility of soil in a coastal area ?
(1) By increasing the water table of the place
(2) By decreasing the water table of the place

(3) By flooding lands with saline water
(4) By dissolving away rocks
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[Question ID = 196][Question Description = S22_Science_Q076]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
7). Which of the following statements are/is Not true regarding weeding ?
(A) Tilling of soil helps in uprooting and killing of weeds.
(B) Weedicides are not harmful for crops and farmers.
(C) Weeding should be done just before harvesting of crops.
(D) Weeds close to the ground can be removed by uprooting them.

Options :

(1) (B) and (C)
(2)  (B) and (D)
(3)  (A)and (C)
(4)  Only (C)
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[Question ID = 197][Question Description = S22_Science_Q077]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

8 What are the characteristics of a rocket fuel ?
(A) Light in weight
(B) High calorific value
(C) Burns slowly in absence of air

Options :
(1) Only (B)
(2)  Only (A)
(3) (A)and (B)
(4) (B) and (D)
Tehe o w1 fafereard = 82
) EEHI ST

(B) = e HA
(C) /(&A1) % HAWE H i Somr 2

(1) % (B)
(2) e (A)
(3) (A) ¥R (B)

(
4 (B) 3 (D)

[Question ID = 198][Question Description = $22_Science_Q078]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]



%) Read the statements given below.
Which of the following is the correct option ?
Assertion (A) : Petroleum is called black gold.
Reason (R) : Deposits of Petroleum are found in black soil.
(1) Both (A) & (R) are true and (R) is the correct explanation of (A)
(2) Both (A) & (R) are true but (R) is not the correct explanation of (A)
(8) (A)is true but (R) is not true
(4) Both (A) and (R) are false
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ITURYT (A) : U2ITeH 1 Tl THT Fel Sl 2 |
fagem (R):  USifem F ofer Fel g (gen) | g e §)
Terereq ¢
(1)  (A) 3R (R) S FEl € a9 (R), (A) T HEl =ame &
(2) (A) 3R (R) S W& ¥ U5 (R), (A) i et =A@ 78 &
(3) (A) T&l & T (R) &I &1 &

(4) (A) 3R (R) SF Tord §
1[Q;J?;ti:n Il[D) =719‘;]9][Question Description = $S22_Science_Q079]
2. 2 [Option ID = 794]

3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

200 Which of the following is added to increase the shelf life of milk ?
(1) Sodium Bicarbonate

(2) Lactic acid
(3) Water
(4) Carbonic acid
Tefafas | 9 farae! e 3 g4 =1 Sew Siiad sgm Sl § 7
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[Question ID = 200][Question Description = $S22_Science_Q080]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

21)



Consider the following excerpt from class VII NCERT Science Textbook; Chapter - Forests : Our
Lifeline.

“The Children learnt about the history of the village. It surprised them that the villages and the
agricultural fields of that area were created after clearing the forests about sixty years ago”.
Which of the following objectives of science education does the above excerpt indicate ?

(A) Nurture the aesthetic sense and creativity in science & technology.

(B) Develop a historical and developmental perspective of science.

(C) Appreciate issues at interface of Science, Society & Technology.

(D) Understand methods of generation of Scientific knowledge.

Options :

(1) (B)&(©
(2) (A)&(B)
(3) (C) & [D)
(49 (A)&(©)
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[Question ID = 201][Question Description = $S22_Science_Q081]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]

22)



Which of the following Process skills does the given activity aim to develop among students ?
Think of the activities carried out by you during a normal day. Can you say in which activity, the
rate of breathing will be slowest and in which it will be the fastest ? Count your rate of breathing
after brisk walk and after running. Do other members of your family have same breathing rate
after these activities ?

(1) Hypothesis, Prediction

(2) Hypothesis, Measurement
(3) Communication, Experimentation
(4) Experimentation, Measurement
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1[Q1u<[egti9n |I|; =8%(;]2][Question Description = $22_Science_Q082]

2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]

23)

Consider the following excerpt taken from NCERT Science textbook (Class VII) :

You might have heard the name of famous Scientist Galileo Galilie. (AD 1564 - 1642). It is said that
once Galileo was sitting in a church. He noticed that a lamp suspended from the ceiling with a
chain was moving slowly from one side to the other. He was surprised to find that his pulse beat
the same number of times during the interval in which the lamp completed one oscillation. Galileo
experimented with various pendulums to verify his observation. His observation led to development
of pendulum clocks. Winding clocks and wrist watches were refinements of the pendulum clocks.

Which of the following aspects of Nature of Science does the above excerpt illustrate ?
(A) Science is tentative

(B) Science is based on empirical evidence
(C) Science is advanced through creativity and imagination of scientists
(D) Science is objective and value neutral

(A), (B) and (C)
(A), (C) and (D)
(B) and (C)
(A) and (C)
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1[.Q:“[eg:xit?or:1 IIB :8%]2]3][Question Description = $22_Science_Q083]

2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
24)
What does the following excerpt illustrate about Science ?

Scottish biologist Alexander fleming took break from his lab work investigating staphylococci and
went on a holiday. When he returned, he found that a Petridish which had been left uncovered by
mistake, had formed blue-green mould. The mould contained a powerful antibiotic, Penicillin,
Which could kill harmful bacteria without having a toxic effect on human body.

(1) Laws and theories play a central role in developing scientific knowledge

) A general and universal Scientific method exists

SE N L)

(
(3) Scientific knowledge is long lasting yet tentative
(4

) Scientific discovery is not a linear process
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[Question ID = 204][Question Description = $S22_Science_Q084]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

25)

A teacher wants to organise a debate for students on “Wastage of water’. Which of the following is
not an expected learning outcome for the purpose of assessment ?

(1) Comprehend various causes of wastage of water

(2) Communicate logically their viewpoint about wastage of water
(3) Link their day-to-day experiences and observations about wastage
(4) Compete with other classmates by countering their viewpoint on the issue
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[Question ID = 205][Question Description = S22_Science_Q085]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

26)



Which of the following is incorrect ?

Skill Examples

Inference * Identify conductors and insulators on the basis of experimentation.
O * Identify acids and bases using litmus paper.

Classification * Identify parts of a flower.
@) * Identify the causes of sudden thunderstorm at night.

Observation * Notice different shapes of leaves.
@) * Differentiate between sounds of different frequencies.
@ Experimentation |* Test for presence of starch in food items.

*

Examine effect of resistance on flow of current in a circuit.

Trefafas § & =F @ 98 18 £ 2
FTA Edr

) * TR % TR W Feh SR HHEerh] S 9edH |

@ * foreny YT (93) & SUGN § A5l 3R 4TER] SRl IEE |
* qeq o RN &1 UgEH

2)| FEfeR T

& * fF | afedsiEn & 9 T & HRU 1 TE=H HI

3 * i =t ey GW@I‘W S <l
* fir srgfa &1 @HE § 98 HE

@| v * g Teel | AiE (WE) w1 Syt w1 Si"
* gftqy § 9w & AR W Afa0 o IWE ST Si" weT

[Question ID = 206][Question Description = $22_Science_Q086]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
27)
‘A battery is like a pump in a water circuit’. Which of the following does the above statement
represent ?
(1) Model
(2) Hypothesis
(3) Analogy

4) Observation
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[Question ID = 207][Question Description = S22_Science_Q087]
1. 1 [Option ID = 825]

2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]

28)
Read the statements given below and choose the correct option :

S;: A teacher should teach the concepts from the very basics assuming students know nothing.

S, : Students intuitive ideas are always misconceptions.

(1) Both S, and S, are correct and S, is the correct explanation for S;
(2) BothS, and S, are correct but S, is not the correct explanation for S,
(3) S, is correct but S, is incorrect

(4) Both S, and S, are incorrect
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[Question ID = 208][Question Description = $22_Science_Q088]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]

29)

Which among the following is a common alternative conception that a teacher is likely to
encounter while teachjng ‘Heat and Temperature to Grade VII Students ?

(1) Blankets keep things warm by trapping heat

(2) Temperature is a property of a particular material
(3) Conductors gain and lose heat easily
(4)

4) Heat is transferred from warmer object to the cooler object
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[Question ID = 209][Question Description = S22_Science_Q089]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
30)
Which of the following statements is correct regarding students’ conceptions in science ?
(1) Misconceptions reduce as student progresses to senior classes
(2) Misconceptions are resistant to change by conventional teaching strategies
(3) Misconceptions can be challenged by reiterating correct answers

(4) Misconceptions arise due to incomplete and insufficient understanding of concepts
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[Question ID = 210][Question Description = S22_Science_Q090]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]




